afy gt 7 e ¢ 16 822(AY)

2
Vi) AR T T H T e e 3
W grremen dadabadabeivebes? W T{%ﬁq M aTﬁ: % R ﬁ&ﬁ@ 3ﬂ_{ fm
) T2 (x) A gm g e A
ATH vereeeemmeseeersmiviraasenses it | 1
- vil) T WA B Tw § e Y A
 822(AY T
9 2 8 Tela H e :
ix) W % E o wer sraee b,
2022 39 = U g o s ity B
T o % O e o e s A S
Q\Q Instructions :
( Hindi and En%)@xversionﬂ i) ’:‘}?zre arfi‘ seven questions in all in
. is question paper.,
R d e 151 IQQR@ | i - 70 1) All questions art;p compulsory.
S =) TIAu 1) In the beginning of each uestion, it
e HRE é;& ‘ﬁrm?r qﬁamﬁl = il has been clearly mentjc.loned that
o fer Freifd & how many parts of it are to be
Note : First 15 minutes are allotted for the attempted.
candidates to read the question paper. iv) Marks allotted to each question are
Prdw 1) 39 9O T Gl WA IR € mentioned against it.
) ot WA aiﬁ'q’m Tl v) Start from the first question and go
iii) yeF WA F IR § W Ieod ¥ {6 up to the last question. Do not
IFh W}g‘ug B _ _ waste your time on the question you
jv) e W 3T Ik wegd e 1 cannot solve,
v)  WEE W T ey Fie AR I TF vi) Write the solution on the pages of
e Y| T 7 gt @, 39 W

%:{aq ]ﬁ & T AR

i Tl A I-gfead .

v fafign | WO W | & et @l el
¥ ev1 ¥ PN w o @ ST

®eG [ Turn over

EAGA ~
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vii)

both sides of answer-book. Write the
steps of solutions of all questions
except Question No. 1.

If you need placc for rough work, do
it on left page of your answer bofjk
and cross ( x ) the page. Do not write
the solution on that page.
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1.

g22(AY)

ff the lines (:[}nstructﬁd

of construction. *
. tion 11

3

viil) Do not rub ©
n a gtio
write ?}l::j steps of construc
brief, if asked-

ix) Draw neat and
solution of a qu€s’
necessary, otherwisc
the solution . will
incomplete and wrong.

stion wherever 11 15
in its absence

w+ft @ve =i ¢ >
e v A v & e e (4 E
W) Brkeg Siest ¥
379 FeIC-gReshT T
ED) Fmﬁruqﬁ@g%ﬁp%%ﬂ{,mm
forw? oiteR T &9 FEN
i) p i) p+1 1
iii) 2p iv) 2p+1
@) fﬁﬁ{“i,ﬂ),ﬂ[z;’g]ﬁ?
c (0, 3)T® B & ¥ 1 % Byt &
) e B
i) g P
i) @HAG
jv) Trwreg gt | .
™ QWW%WWT 20 42
st 45 QM2 F) R Fad SR
o . 45 9.4
203 419 !
) 549‘%3 °eG [ Turn over

correct figure 11,

822(AY) .
2) a&(tan[}:ﬂ:,msﬂaqmm
ag—b’I
' .. a’-p?
) 1 i) S
i) a+b’ i) 24 ]
a’ -p? 2B
) U Ul W fie Dl g€ W o 14 2 ¥

i) 1026 FH? i) 10-50 T2

i) 10752 iv) 11-0 2 1
T)  UFH dNERa §ed & fow o, e sk

TS F g T §

i) WEeTH = 3TN - 2 WA

ii) Wgeh = 2 WifegeT — 3 HA

iif) SgeTh = 3 HIegeRt — 2 WA

iv) g = 3 HifeeHT + 2 I 1
Do all the parts :
Four alternatives of the answer of _each part
are given, out of which only one 1S correct.
Pick out the correct ajternative and write it
in your answer-bogk -
a)  For any positiye integer P CVery

positive odd iﬂtegm‘ will be of the form

) p ) i) P + 1

Download all NOTES and PAPERS at StudentSuvidha.com
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: g822(AY) 822(AY) 6

and a ‘
b) The points A ( ~ 4, O.}’ B{ 4, O, ]nglﬁ- 2. g it
C (0, 3) arc the vertices of a tria ® fo 3 pe  PT s
That triangle wglt?fangle TR TR ZPST = £PRO. 88
i) Right angle i .
]i]i] Isgscelesgtl‘iar}gle " APOR QT)W{J@ gt ¥ !
iii) Equilateral triangle 1

; ianglc .
iv) Scalene ;:rtwﬂ similar triangles are

20 cm? and 45 cm? respectively- The S T
ratio of their heigl}_T;S “"]l' E’f’
jj 20:45 1 : 1 _
iii) 2:3 i) 9 _ 2@ X f
2ab r&\(zﬁe value of cos 0 will =) Scos® 60°+4sec” 30°—tan” 45°
0= s
@ HET 'gi\\@ - sin® 30°+cos” 30°
be 3 2_32 A FI hifoT | 1
- i) ‘12’ _ L W TEE W s 64 A 3
1) a“+b - mwmﬁw@%! \HT'-?[
a?+b> 2ab 1 1 TEE STFH T BT 1
i = -
iii) ﬂ tv) r,:t2+13'2 . ) UH HNEH LT,(;. Fat = e e
The length of minute hand of a clqcl;i FAtefaa TRt F ey ¥
@ 14 cm The arca swept BY M0 < 3T 100-120 '
hand in one minute will bé o (To H) 120-140 | 140-160
i) 10-26 cm? ii) 10-50 Cn; ' Fig] @t den 12 14 8 .
75cm? jy) 11-:0cm - i
iii) laD frequenclyv] distribution, the .
0 Fc;r tion between mean, median and 160-180 180-200
ela _ 1
]I.nodf.: k;e —3wM ) Median N - 6 ‘ 0
i) Mode = 2 median - 3 mCAD I R Y g A R ey
) Mode = 3 median * 2 me 540473
) [ Turn over e

*eG
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2.

a)

b)

54943
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Yo ali the parts :
| ps PT

822(AY)
0

- and
In the figure, gédﬁ |
/PST = £PRQ prove that APQR is an

isosceles triangle- P

\)
Find the val@gf

o 250
scos?60 s ST

sin’ 50°+cos” 30°
e 64 cm
U d the surface
1
rkers of a
ble :

3
Two cubes each of volulll
are joined end to‘e:nd. gm'd
area of the resulting cubol .O
The daily incomes of SO,W -
, are given m following

——

L imit of
Find the lower hmit and uppe! 1l |
the modal class.

822(AY) g

i wug Fig

%) fag S 6 V2 @ s e E 2
W) Fretftia wE HEE W feie B S

3.

m

A(-4,-3)8R B(5,2) Fe o
rarETg | faeied ST 8 2
2 3rg regdE TF WA HAE F §F
U] W BT p, AR r, €) TR TR
TR SR % UR ded % 9§ el
S o ¥ fog S 6 9eR AR

2 4 5

2
nt T

i = :

Do all the parts :

a)

.b}

Prove that \E 19', an irrational number,

2
Solve the following system of equations
by elimination method :

x 2y
—+—+1=0 "y_:
2 3 y X 3 2

Find the ratig iy which x-axis divides
the IN€ segment joining the points

A(-%-3)anq B(5,2)} 2


http://studentsuvidha.com/
http://studentsuvidha.com/

822(AY)

d) Two solid right circular- cones have tl;z
same height. Th¢ radii of their bas

d an
are r, and 1,- They are melte

: hcight.

re-cast into a cylinder of same

9

Show that the radius of the base © the
r12+r22 .

cylinder is 3

4. |t UL HIAC : |
e @
%) fam e iﬁmﬁg\\uﬁm g fomsd

oy gE 13 it zoreid € 2

1250
@) foem H@W sz—QJEx+2=D$ bl
qm:rwﬁﬁrgmwaﬁﬁm 2

) u’r%m'?ﬁ(a,ouo,bjaﬂwl,lm’f@

. .1 1 )
%ﬁ}mmﬁa-kg—l.

gy fa #@ O T W ¥ & 9k
PQ=24ﬁ3ﬁTPR=?ﬁ,aWﬁﬁ

o T GATE 3T HIAT | 2

Hifiig

Ii

90
=P

54943 L T Tel [ Turn over
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4. Do all the parts :

a)

b)

d)

ithout formin ivisi
perfor £ the long division
Procedure show that thcg rational

Number 1351
1250

1s terminating decimal.

‘ 2

Fm;i the roots of quadratic equation

3x” -2J6x+2=0 by factorization

method. 2

If the points ( @ O > (0, b) and

{11, 1) are collinear, prove that '
1

—+—=1.
a b _ 2

In the figure, Ois the centre of a circle.
If PQ=24 cmand PR=7 cm, find the
area of shaded portion. 2

R ===
5. W@ @GUS iU : -

%)

Q)

54943

Thig ol g faee 6 s wdie
PR 2x+4y=10 &R 3x+6y=12 H
&l 6 1@ g 4
uh B ABC witan e BC = 7 I,
£B = 45° #R £A = 105° @1 B ABC
¥ JuET TE 0 e ® A S
R et aapc @ W@ FTA R
%Th%n | a

ha.com
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M) fﬂ@'ﬂﬂﬁqﬁ

) o 5° = 1 B
tan 35°tan 40° tan 45°tan50°tan5 N

i) AABCH fag FC I

2
tanB+C:cot-* _
2 2 el
) afe 35 9 8 ol T FARR TH 296
foyeqed @t 3 HIAY
i1 e 0-10<Q 1020 20-30
[ areRd NG f 6
* Q
@$ 30-40 40:0
10 \

4

rts:
50 aasﬂ:gewp]?y graphic:al method that system

of linear equations

2x+4y=10 and 3x+6y=12 has no

i 1
solution. - ’ .
by Draw a triangle ABC 1n c which
pc = 7 cm, /B = 45 . and
/A = 105°. Construct 4 triangle,

similar to triangle ABC, whose sides

are ?43— times of the corresponding sides
of AABC. _ 4.
¢) i Prove that ) ]

tan 35° tan 40° tan 45° tan 50°tan 55 :12_

3221AY] 1o

i)  In AABC, prove that

B—I-C A
tan ——=Cot2
an 5 5 - o

d)  If the arithmetic mean of the following

given table is 25, find the missing

frequency : .
Class-interval 0-10 10-20 - 20-30
Frequency 6 f 6

30-40 4[}?56_-]
4

el @ Fit :

F)  kH GES T TG R
%‘QW x2+kx+64=0 :ﬂin.
x> ~8x-+k=0 % 3 o1 At €11 4

Q) mﬁrﬁwﬁmﬁ’r&mmﬁﬁ
T T T W ) w A R
ST R 60° AW Wl ¥ AWK [
WWSDO%[WH&WW

™ T 3 face a@‘?ﬁﬁﬁ; A
i AN R T 3
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13 822(AY)

D T i 7 A A

Jﬂ%{ﬁgﬁ% B

- _._i_"__
ki [ 010 | 1020 | 20-30 | 30-40

franfEt wr Hen | o 10 12 15

30.50 | 50-60 | 60-70

s

13 8 4.

Tt FF g |

4

6. Doallthe parts: '& valﬁe of k for

a) Determine the po

b

. 2 =0
which the egp@tons X +kx+64 N

2 _ (béo will have both ré
and x Sx&% "

roots. Q b
ing on the deck of a ship,
A i PR bove water level,

ich is 14.metre a :
:tggwes the angle of elevation of the
top of a hill as 60° and the angle of

1 hill as
ession”of the base of the |
ggl'?.r Find the height of the _h_lIl and
distance of the hill from the ship.

 (given J3=1-732) 4
A solid to¥ is in the shape of a

.«phere surmounted by a right
21?2;15" cone. Height of this %One is
5 cm and the diameter of tI_‘n?t as}:fls
4 cm. Find the volume Df_thls gﬁ'-b a
right circular cylinder Clrm;?al J;n ::
the toy, find the difference ©
of the cylinder and toy. 4

(Take ™~ 3-14)

943
Download all NOTES and PAPERS at StudentSuvidha.com

Marks gyt ained |
Numbﬁl’ of

822(AY) y

d.:' Thf_‘: marks Obtainﬂd b}, the studﬁﬂts of

a class N Mathematics are 2%

20-30 | 30-40 |
IERE \
[40-50 15060 6070 |

B s T 7 |
| 3

Find the median.

®) ma,'maﬂ R ww §
EM.’H“EF%, IQMW%WGTF%
A, w0 H sre W W s

Haan
T wiewoy 2 - 6x 1320 & .

THI T
ﬁmaﬁﬁqﬁﬁmaﬁ%aﬁ?ﬁ%eﬁﬁ

qg) i) ﬁq'ﬂﬁq%'éDJ‘A :
' C @1 CE L AB
A o B fe AAEC ~ AADR

C 3
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7. Do all the parts

a)

b)

54943

i) wHeg Bl

i) AABCHE

'l?kn’l

15 :

i) AaBc ww TIRTE Byt f‘ Fﬂ;‘;

AC = BC’%"ﬂ%AB =24C%, 3
Ffv fir aABC T T g

: 3
ABC d, fgat o a ©

b i o ) ot 232 B
gﬁA’CWﬁF&'DWW
R % e JACB = LTABD.
aﬂﬁﬁ'ﬁﬁﬁﬁg\\

ecd in still water 1S

A boat, W ore time to g0

3 hr@ﬂ o ‘o turn
than to [I€

pstream ¢ Find

ame Spo
wnstream to the s
do stream. 6

eed ofthe _
the sp v )
ture of the roots of the
x 2 _6x+3=0. If
6

3

Fmd the”na

quadratic’ ‘equation 2
the roots arc real, find them.

ij Inthe figure, if BD L AC and
CE L AB, prove that
AAEC ~ AADB. 3

[ Turn over
*0G

i)

16

AABC is an isosceles triangle in

which AC = BC. f AB?=2AC,

prove that AABC is a right triangle.

- 3
OR

In equilateral triangle ABC, whose

side is a , prove that its altitude is

a3
= 3

The point D is on the side AC of
AABC such that ZACB = ZABD.
Prove that AABC ~ AADB. 3

822(AY) - 3,20,000
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